LIS LLLLLIL L B UL B N 111 R I O B LR ]
B | _
(@]
CC‘\OI (@]
B 32
QL ] >
v —
~ 1
3 2
QL |1 @
© ()
o L - o
= =
n
< o
x - —
AV 1 o
R (TR RN AN (TR A A (1T T AN A s (I
7 b ‘P ©
o o o o
L | L | L o | L |
(A93 s zwd)/suojoyd
|LLLLILIL I S 1L I B L1100 L L N 1111 R B
L \ :
3
0 * o
* — O
E L 74—
EE 7 %
& [ 1
—— ~N
- 1R
< o
[ ] (=
o
(@]
o - —
o F 1o
o —
a - —
8 | _
SRR R (TR RO A N N (11NN O O A A (1 TR N O
N ¢ 7 Y
o o o o
L | ] — L |
(A s)/s3uno)

- o ™
T T 9
=] = [24]
wn © »
9w o+ &
@© < —
| | |
+ + +
a ™ — — ™
T T T 99
[ [x] e3] c3] 23]
(o)) — [ap] n Yol
© 0 © 3 9
™ © (np] - -
Il
() 1]
-
© — Il
S ] >
o x| < E
g 2 = — 9
n [z, z ) z
T T [T T T[T T 1]
%
N —t—
» —t1 i
w B BN B |
[aV] o C\Il
s[enpisay

1.00

0.10

X2req = 1.064

Energy/keV



